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fR AT 978|ILH W& 5 21774V T 4A) 3L 5m |H 11 5/4 13m11/3
fRET™ 9791;IA F % 21774V T 4A) 3L 5m |H 13 2/2 23m75/4
fRET™ 980[#F#y JL= g-g 28|BE L YIME IR & 1 5 6m86
R AT 981|lLA #F g3 28|fE L 50m =1 2 5 12721
Sk A 982| il BE 2 L] | M =l e % g 2 3 15m85
Sk A HE BER 2 18| £ Bk g 3 R

R AT WT BXx 5 18| Bk P 2 5 541
R AT 983|FER &ER s 28|fE L 50m =1 2 1 9”97
R AT 984([& 5 28|fE L VIMK IR P 2 2 19m06
fRET™ 985|h A ERF g3 28|BE L YIME IR & 1 4 10m14
SR AT 986(/N 4k EXER 5 28|FE_E 100m HEE 3 5 15”80
SR AT ERK BE— 2 18| 2Bk HE 3 3 34
SR AT B OESE T 18| 2Bk B 1 5 5
fRE™ 987|{FiE SF g3 28|pE L LMk g 1 2 0m87
SR AT R XHE z 18| 2Bk B 1 3 34
fRE™ 988|&HHR E&R g3 28|fE L 400m HE 1 1 1’37725
fRE™ 989|ILT HMEER g3 28|BE L 200m DI 1 6 51728
R ATH 990|E N #hiA 2 21774097 4AY AL 5m |44 21 3/2 20m35/6
fRE™ 9914 E B 5 28|fE L 100m B 2 3 14790
fR AT 902(f 1A HA 2 2|17934V9° 7 4R LI 5m |HFE 13 3/5 16m57/0
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fR AT 993|f8IE EMRA& =z 21774V T4A) 3L 5m |H 9 3/3 11m32/1
fR AT 994| KT B 5 28|fE L 200m a5 1 2 33765
fR AT 995| FF {27l 5 21774097 1A) LB Tm | B 8 5/2 12m80/4
B A 006|HiFH ZiE 5 2|77409°T4AY AL 5m |HE 14 8/6 5m90/0
fR AT 997|&H FEZ= % 21774V T 4AY 3L 5m | E 13 6/5 9m90/0
Bk A WE BEh ;] 18| 2 Bk & 2 4 4431
Bk A R X 5 18| 2Bk & 3 4 4431
fR AT 998|ER 5 =z 28| L 100m & 1 3 18786
Bk A 099|fmiE HE=E 5 2177409° T 4AY AL 5m | 15 3/6 16m28/1
fR AT 1000|7k A BEJR 5 28|fE L 50m Eng:d 3 2 9”00
fR AT 1001(8R B L& 5 28|BE L YIME IR Eng:d 3 3 18m84
fR AT 1002|&:ZE I % 21774V T4AY 3L 5m |EE 15 6/5 11m33/2
SR A 1003|8RE &= ;) 28|fE £ SIHEBE g 1 2 1m51
fR AT 1004|4148 1E7] % 28|BE L YIME LR b 1 1 32m86
fR AT 1005(#2F & % 28|BE L YIME IR g 3 1 42m33
fR AT 1006(;F =Py % 28|fE L 100m =1 3 1 16763
fRET™ 100778 HE 5 28|BE L YIME IR & 1 3 23m59
SR A 1008|7"T N #FsE 2 2|77409° T 4AY AL 5m |4 19 2/4 18m70/5
R AT 1009|FER %12 ] 21774V 74AY 3L 5m |IEE 14 7/6 8m17/0
R AT 1010[;B/K &8 5 21774V 74AY 3L 5m |IEE 35 6/6 7m81/0
fR AT 1011| K% HF s 21774V 74AY 3L 5m |IEE 22 6/6 6m08/3
R AT ® F—ER 5 18| Bk P 2 3 341
R AT B8P FAK 5 18| Bk P 3 4 41
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BilE tyroNe.  |K4 % |BEEXSS |FEB FR5| #H | NEA SCER A=HE
REATH 1065 HIE 5 2177409 T 1AY LI 5m |B2# 36 7/17 11m50/2

REATH 1066(#% &% EF g3 17| 2Bk 52E8 1 2 2431

REATH 10674 REAF =z 217749 T 1AY LI 5m |B2F 25 5/6 10m83/1

REATH 1061|HZE MED =z 21774V T 4AY 3L 5m | E 20 4/2 12m92/6

mEATH 1062[;EK & ;] 117Ky & 2 2 276

REATH 1063(/hO A s 28|k £ FEMEBE a5 1 1 3m20| X&£#
REATH 1064078 & s 28|BE £ SriEBk a5 1 1 1mO1

REATH 1068|Bk[R ThAd 5 28|fE L 100m =1 2 6 17725




FRRRFREEEFERR—VYKRE BABREERGEER)

BilE tyroNe.  |K4 % [EEXS |FEE FR5| #H | NEA SCER A=HE
AR 110125 EA 5 23|BEE RS5O0—L 528} 2 2 547778
AR 1102|# 7= 5 21774V T4AY 3L Tm | B2 16 1/1 3/17m66
AR 1103|110 EHK s 21774V T1AY I Tm |B2F] 4 5/2 12m59/2
AR 1104|lLjF B 5 2177409 T4AY L Tm |B2Ff 12 R

AR 1105(47 Rl & 5 26|fE L V7N -LIR 52E8 1 R

AR 1106(KH #F s 27|BE L VI -LIR 52E8 1 R

AR 1107|752 B&5H 5 1|BEE A )yhA0- 528 1 2 14m36
AR 1108l 3% T 27|k E 100m 528 1 1 24”45
AR iR A 5 17| 2Bk 52E8 1 3 3L
AR RE ME 5 3| 2Bk 52 1 2 2431
AR hE Rk 2 13| £ Bk 51% 1 1 1431
AR BHE X®&E3 % 4| BBk 52 1 1 1431
AR AF BE 2 8| B Bk 52 1 1 1431
AR INF B 2 14| S Bk 52 1 R

AR L HF g3 3| BBk 52 1 1 1431
AR FE DYF g3 4| BBk 520 1 1 1431
AR EE W 2 18| £ Bk g 1 1 1431
AR 1109[E£FE = 5 28|fE L 50m P 3 5 10769
Al 1110[fRFH 15 5 28|fE L 50m & 3 3 9'68
AR 1M11|#FE & 5 28|fE L VIMNK IR P 4 7 12m75
AR 112l %4 5 28|fE L VIMK IR P 4 6 13m73
AR 1113 B = 2 28[fE E YK - g 4 1 23m16
AR INR B 5 18| Bk P 3 2 2431
AR MK [E 2 18| £ Bk g 3 2 2431
AR 1114{llt RF £ 21774V 74AY 3L 5m |IEE 22 5/5 11m09/3
AR 1115(8A A% 5 28|fE L YIMNK-LIR g 3 5 12m95
AR 1116(FEIL EX 5 28|fE L YIMK IR g 3 4 16m88
AR 1117[48H# FE 5 28|fE L YIMK IR g 2 5 13m79
AR 1118|fEx EE 5 28|fE L YIMK IR g 2 4 15m68
AR KT =31 5 28|fE L VIR -LIR B 1 5 9m35
AR 1120| A% 25 5 21774097 4AY AL 5m |44 24 R

AR 11215kl HBA 2 21774097 4AY AL 5m |44 21 R

AR 1122|F) BiE= 2 21774097 4AY AL 5m |44 14 2/4 19m39/4
AR 1123|[EF =E=4 2 21774097 4AY AL 5m |44 19 5/7 14m25/3
AR 1124|B15 8#& g3 1R B 1 4 146




FRRRFREEEFERR—VYKRE BABREERGEER)

AR 1125|800 #BF s HasrdPZi & 1 R

AR 1126/t 8 1ES 5 21774V T 1AY 3L 5m |EE 24 5/3 13m83/4
AR 1127 X% &F 5 2|1774V9° T 4AY 3L 5m |EE 24 3/1 20m15/4
AR 128K &F =z 21774V T 1AY 3L 5m |EE 18 R

AR 1129|548 Ik 5 28|fEE VIR -LIR & 2 6 12m39
AR WM T 27{/Kik BHRZ25m & 1 1 31735\ K&#H
AR 1130(F Lt kiE 5 28|fE L 100m DI 3 1 13738
AR =H %3} 5 18| R Bk & 1 4 4431
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BilE tyroNe.  |K4 % |BEEXSS |FEB FR5| #H | NEA SCER A=HE
INGETH 1191|KHF FHKF =z 4| 2Bk 52E8 1 3 31
INGETH 1192[KH E£=&EHK s 9| 2Bk 52E8 1 1 1431
INGETH 1193|[E A 3 ;] 17|7Kik B HE#25m 52&p 1 R

INGETH 1194/ 1HF =z 4| 2Bk 52E8 1 3 31
INGETH 1195[3R )1l BF T 17| 2Bk 52 1 4 4431
INGETH 1196|18)I| FEE 5 26|fE L 1500m 528} 1 1 529749
INGETH 1197|XEE SEF s 3| 2Bk 52 1 R

INGETH 1198|FA@ f#i % 17[fEE 50m 528} 1 1 26782
INGETH 1199;F5K —& % 14[f2 £ mahi% 52E8 1 1 4m02
INGETH 1200(18)I| =EE s 14[fE_E 200m 5150 1 1 1'23"30| K& %7
INGETH 1201|[AfE EAX % 20|fE L VIME-LIR 52E8 1 3 8mo03
INGETH 1202|/hNE B % 28|fE L 50m b 3 1 8”38
INGETH 1203[{kEfk B& % 28|fE L 1500m =1 1 7 712741
INGETH 1204|;FK 5% % 28|BE £ SriEBk g 1 1 1m88
INGETH 1205(1& )11 #EKR % 28|fE L 50m D i 3 3 7786
INGETH 12062 K % 28|fE L 50m D i 3 5 8”64
INGETH 1207 K Z&F g3 28|fE L VI -LIR g 1 2 12m50
INGETH 1208(#b)1 F— 5 28|fE L 50m P 3 6 11756
INGETH 1209[/ 4k & DF s 2177409 T 4A) 3L 5m |H 10 R

INGETH 1210[{EB& #h7 5 28|BE L 100m =1 3 3 15727
INGETH 12111811 B4 5 28|BE L 1500m DaE 1 14 922”68
INGETH 1212| =48 AFH 5 2177409 T4A) LI 5m |H 6 8/2 9m02/7
INGETH 1213|F% B BUA 5 28|fE L 50m P 3 1 793
INGETH 1214(H0iF HF s 2177409 T4A) 3L 5m |H 10 4/5 9m41/0
INGETH 1215[#iR &= g3 21774V T4AY 3L 5m |BE 17 1/3 20m56/2
INGETH 1216|FF BX s 28|BE L 100m B 1 2 18”765
INEETH 1217|454 K iF 2] 28|BE E SLHEBk B 1 3 1m24
INGET 1218|#8R & 2 21774097 4AY AL 5m |44 19 6/5 13m25/5
INGETH 1219|E#: E4 2 21774097 4AY AL 5m |44 27 5/5 12m79/3
INGETH 1220|/h#k EEF T 2177409° T 4AY AL 5m |44 28 7/6 4m97/0
INGET 1221| 5% B 2 2177409° T 4A) AL 5m |HE 13 4/4 12m54/1
INGETH 1222| & 5hF = 21774097 4AY AL 5m |44 20 6/6 6m35/0
INGETH 1223| R4 /ME = 28|fE L 50m B 2 2 10”35
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BilE ool |K4 % [EEXS |FEE FR5| #H | NEA SCER A=HE
FARH 1227(3%+ EZ 5 20|fE £ VIR -LIR 52E8 1 2 28m>59
FARHh 1228(F%t B 5 2|1774V9°T4AY 3L 5m | B2 34 2/5 20m56/0
FARH 1229|480 HER 5 217749 T 1AY LI 5m |B2F 38 1/1 21m68/6
FAHh 1231[ith £ 5A 5 2177409 T1AY 3L 5m |B2F 36 4/6 15m57/2
FAHh 1232|HE FH 5 2177409 T 1AY 3L 5m |B2F 36 5/5 14m02/3
FARHh 1233|585 % 5 20|fE £ FAALI% 52 1 R

FAHh FEH EE % 13| 2Bk 52E8 1 1 1431
FAHh 1234|18]8 #A 5 2177409 T 1AY 3L 5m |B2F 29 6/2 17m93/6
FAHh 1235|# 8 DHF =z 2177409 T 1AY LI 5m |B2F 25 R

FAHh 1236|FER A 5 7|BEL U eA vy AR- 528} 1 1 20m84| K& #
FARH R & 5 6|7Kik FikE25m 528} 1 1 28752
FARH 1237t EX % 19[fE_E 100m 5150 1 1 1’38795
FARH 1238(JIl £ =3 g3 18[fE_E 200m 5150 1 K& K&
FARH 1239| K%t & % 20|fE L VIME-LIR 52E8 1 1 29m41
FBh 1244 % kK 5 10[7—F1Y— 50m-30m7IU+ [H2ER 1 2 610
FARH HHE XiE =z 2|7k N477425m 528} 1 1 21734
FARH 1240| 1Lz &7 2 28|fEL 100m &5 2 x

FBh 1241({REk H_MB 5 28|BE L 100m =1 3 7 22725
FAH 1242|143 EAN 2 28|fE L 100m g 1 R

FAH Fill 8z 2 18| £ Bk & 1 5 5i
FBh fAIER XA g3 17|7K%k B HB#250m =1 1 2 108”30
FBh 1243[ 1L EF0F s 1Ry P 1 1 267
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BilE tyroNe.  |K4 % [EEXS |FEE FR5| #H | NEA SCER A=HE
B4R 1296|dtR #Hk 5 26|fE L V'eAyH)AD- 528} 1 R

B4 4R 12975 BX s 1|BEE eA)yhA0- 528} 1 R

B4R 1298|#1H %5 5 217749 T 1AY LI 5m |B2F 37 3/4 17m60/2
B4R 1299l BI& 5 2177409 T1AY 3L 5m |B2F 36 2/3 17m73/5
B4R 1300| KT HEFE 5 17| 2Bk 52&8 1 5 541
En iR TH 1301tk BEZ= 2] 1|2 Bk B52E0 1 3 34z
Ef iR 1302|858 K EEF s 18| Bk Eng:d 1 R

B4 iR 1303|2H #HE 5 27|Kik EikE50m =1 1 1 49”85
B4R 1305|%&R W& 5 21774V T 4AY 3L 5m |EE 14 4/1 12m60/9
B4R 1306/ BbF =z 21774V T 1AY 3L 5m |EE 18 6/1 6m29/5
B4R 1307|K# B4 % 21774V T4AY 3L 5m |EE 13 R

B4R 1308|/NER BB % 21774V 71AY 3L 5m |EE 14 9/6 5m78/0
B4R 1309|#FH B =z 21774V T4A) 3L 5m |H 10 1/4 11m38/1
B4R 1310| R & E % 21774V T4AY 3L 5m |EE 27 4/1 16m27/7
B4R 1311|E]R E— % 28|fE L 50m g 3 7 11733
B4R 1312[;&FH#H Z=0 % 28|fE L 50m g 3 6 10742
B4R 1313 KT il % 28|fE L VI -LIR g 3 6 12m72
B4R 1314(luE FA 5 28|BE L YIME IR & 2 R

B4R 1315[/NZE FHRF g3 28|BE L YIME IR & 1 6 6ma4
B4R 1316(7F% 2™ g3 18| Bk a5 1 3 341
B4R 1317(2H 5 18| Bk P 1 3 341
B4R 1318(FHHA Eh 5 18| Bk P 3 3 341




FRRRFREEEFERR—VYKRE BABREERGEER)

BilE ool |K4 % |BEEXSS |FEB FR5| #H | NEA SCER A=HE
h & 1356| =8t X e 17274097 4A) BEHL 5m | B 18R 1 4/4 10m59/0

h & 1357|;@HF — BB 5 27|BE L 200m 528} 1 1 39795

h & 1358[;&57Kk 1EFD 5 27|kE L 800m 528} 1 1 2'33760| K& #H
h & 1359|aH FH 8t 5 2177409 T1AY 3L 5m |B2F 33 R

h& 1360(BF E HA 2] 29[fEE VpAYwhAD- 52 1 1 12m62

h & 1361|4EK (£ 5 27|BE L 200m 528} 1 2 48”47

h & 1362[45AK E£HF =z 2177409 T 1AY LI 5m |B2F 20 2/1 20m42/6
il IR BE 5 14| 2Bk 5 1% 1 1 1432

h & 1363(8RiF E=& =z 27|Kik EikE25m a5 1 1 29799

h & 1364| &1L 1IEH 5 28|BE £ SriEBk a5 1 1 2m00

th ¥ 1365|H Il f— % 1|R_RoU T a5 1 4 219

h & 1366(@H¥ ¥F g3 28|fE L 50m b 1 5 15720

th 1367[/h i 1EE % 28|fE L 200m & 1 1 36716

th ¥ 1368[;kFH AEF g9 28|BE £ SriEBk & 1 4 0m40

th ¥ 1369[/NEF FEDH g3 1|R_RoU T & 2 1 147

th ¥ 1370( EFH Fi% =z 1|R_RoU T & 1 4 78
Al 1371[/h i A# g3 1|/R2)T g 2 5 63




FRRRFREEEFERR—VYKRE BABREERGEER)

BilE ool |K4 % |BEEXSS |FEB FR5| #H | NEA SCER A=HE
KETTH 1402(# 8 BX 5 2177409 T 1AY LI 5m |B2# 36 6/4 13m46/5

KETTH 1403(Fa;F £ =z 2|1774V9°T4AY 3L 5m | B2 28 R

KETTH 1404|#E B s 18|7Ki%k B H#Z50m 5150 1 R

KETH 1401 |B5E Bk 5 28|fEL 1500m =1 1 4 620”53

KEBTTH 1405(ILUAR £ s 28|fE L 100m DI 2 2 16755




FRRRFREEEFERR—VYKRE BABREERGEER)

BilE ool |K4 % |BEEXSS |FEB FR5| #H | NEA SCER A=HE
gL 1426|7TH H— 5 2177409 T 1AY LI 5m |B2# 19 1/2 51m14/7
gL 1427(8¢ £ {4 s 28|fE L VIMNE-LIR P 4 5 16m74
gL 1428| KHF &OF s 28[fEE 100m P 1 R

gL 1429| %% IER 5 28|fE L 50m Eng:d 3 5 10721
gL 1430(F ik & =z 21774V 7 1AY 3L 5m |EE 18 5/5 6m36/1
gL 14311k T2 g3 28|fE L 50m Eng:d 1 3 14708
gL 1432|8R #B= 5 HasrdPZi & 2 4 127
gL 1433|AEE HBE 5 28|fE L VI -LIR Eng:d 4 3 21m63
gL 1434| ARHE AF =z 21774V T 4AY 3L 5m |EE 23 3/2 10m91/2
gL 1435|FR BB 5 28|fE L VI -LIR Eng:d 4 4 18m53
gL 1436 KHA DOF =z 21774V T4AY 3L 5m |EE 28 6/5 6m57/1
gL 143704 Ehf % 21774V 71AY 3L 5m |EE R




FRRRFREEEFERR—VYKRE BABREERGEER)

BilE tyroNe.  |K4 % |BEEXSS |FEB FR5| #H | NEA SCER A=HE
F&Hm 1476| R & [B— ;] 177409 T 4R) AL Tm |5 2E] 3 R

EZ54t 1477(/NE ZFE 5 15[ HURTF—JIT=R |B2& 1 1431
EZ254t 1478[;A/ A IRTE s 15[ HURT—TILT=R |52& 2 2431
e300t 1479|86F AR =z 28|fE L 50m =1 2 3 10742
FHm 14805k H =E 5 28|fE L 50m & 3 7 1187
EZ54t 1481(F#E BR 5 28|fE L 50m Eng:d 3 2 8'82
EZ54t 1482 B3 B 5 28|fE L VI -LIR a5 2 1 39m18
e300t 1483|B# 1E— 5 28|fE L VI -LIR a5 1 1 49m13
e300t 1484(4 1L &4 5 28|fE L VI -LIR a5 1 4 9m61
e300t 1486|% 8 F 5 28|fE L VI -LIR a5 1 6 4m15
et 1487| Rl ™2 % 28|fE L VI -LIR =] 2 1 39m18
et 1488|#1H SHEIF =z 21774V 71AY 3L 5m |EE 22 2/1 17m55/6
FHm 1489[/ iy RESE =z 21774V 74AY 3L 5m |EE 18 4/6 6m78/1
F8Hm 1490(FEE K£LUIT g3 21774V T4AY 3L 5m |EE 22 3/2 14m77/6
*Hm 1491[;BFK &HIE 2 18| B Bk DI 1 3 31
*5Hm 1492|/h ik EiA % 18| 2 Bk g 3 3 3L
et 1493|F Il B5/ % 27|/Kik BHF50m =1 2 8 123792
FHm 1494|/NE - KFR 2 1Ry & 2 1 347




FRRRFREEEFERR—VYKRE BABREERGEER)

BilE tyroNe.  |K4 % |BEEXSS |FEB FR5| #H | NEA SCER A=HE
IBR™ 1507|/NE EEHSE =z 7| 2Bk 5158 1 1 1431
ERH 1508( = H #RF =z 4lfEE VeA)yhAD- 528} 1 R

il 1500|168 =— 5 17| 2Bk 52&8 1 4 4431
BHRM 1510(F# WM& 5 20{fE L VIME-LIR 52E8 1 R

BHRM 1511EL BRF s 17| 2Bk 52E8 1 3 31
BHRM 1512|H 10 &#EY =z 20{fE L VIME-LIR 52E8 1 1 6m83
BHRM 1533| KA &HF =z 4|7—F1Y)— 30mFTNIIUN | B 28 1 1 411
BHRM 1513|— 23 Eih 5 27|/Kik BHF50m a5 2 4 35765
BHRM 1514|1F% /\TF =z 21774V T 4AY 3L 5m |EE 23 6/4 6m35/0
ERT 1515|528 E% 5 28| L 50m a5 2 &

BRM 1516| K& FE % 28|fE L 50m DaE 3 2 7752
BHRH 1517[/V8 #34 2 18| £ Bk & 1 3 31
BRM 1518|/NZE BN % 28|fE L 100m =1 3 6 21746
BRM 1519[/\#k BIA % 28|fE L 50m g 3 1 8”33
BRM 1520(/M# IEFD % 28|fE L 100m =1 3 2 17732
BHRM 1521|F & AR 5 1|R_RoU T a5 1 1 282
BRM 1522|811 X % 28|fE L 50m =1 2 5 11719
BRM 1523[{EBE =h = 28|fE L VIMK IR P 1 3 11m99
BRM 1524| KB 1IESE 5 1Ry a5 2 8 160
BRH 1525(@AH H— 5 1Ry a5 2 3 257
BRH 1526| F%F B s 28|fELE 100m ] 1 1 17735
BRM 1527| R BEF g3 21774V 74AY 3L 5m |IEE 18 1/2 17m25/4
BHRH 1528|h R = 2 27{/Kik  FikE50m 1 1 1 42”21
BRM 1529|h 4t &4 5 28|fE L VIMK IR a5 2 6 11m85
ERMm 1530[ER & g3 28|BE L 400m B 1 1 2'09”70
ER™ 1531|BF #F g3 21774097 4AY AL 5m |44 18 3/4 8m65/2
ERMm 1532|H 3 HF 5 28|fEE 50m B 2 1 8712
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P

'y UNo.

K4 % [EEXS |FEE FR5| #H | NEA SCER A=HE
FHhth 1541|REF £t =z 20|BE L YIMR IR a5 1 1 2m84
FHhth 1542|778 & 5 27| Kk FFikE25m a5 1 1 45”01
FHhAT 1543| AR E5hA 5 28[fE L YK -1 P 1 R
F T 1544(1FZH {#5% ;] 117Ky & 1 2 256
FehT 1545({REk PpH g3 28|fE L 100m a5 2 1 18745
FehT 1546|ALL 24E 5 28|fE L 50m a5 2 1 7728| KR=#H




FRRRFREEEFERR—VYKRE BABREERGEER)

BilE tyroNe.  |K4 % [EEXS |FEE FR5| #H | NEA SCER A=HE
{EATH 1571|2 T AR 5 1[fELE 100m 528} 1 1 15773
{EAT 1572[i%:8 EE 5 1|fBEL ENEBk 5280 1 1 3m56
{EATH 1573[;&A FHR 5 5|BE L YIME-ILIR 52E 1 1 25m98| K& #
{EATH 1575(FA@ BT 5 a|BEL YIMR - 52E8 1 4 21mb58
{EAT™ H 7 ;] 1|7k FFikE25m 52 1 R

{EATH R XEFET g3 17Kk B E#225m 528} 1 1 25"17| K=
{EAT™ AK BF T 17| 2Bk 52 1 3 3L
{EATH FIH EF g3 17| 2Bk 52E8 1 5 541
{EAT™ g »"oOF s 3| 2Bk 52 1 2 2431
{EATH 1576|R%El & 5 24|fE L 1500m 528} 1 1 552”60
{EAH 1612|TB iz % 23|fELE ASO—L 5150 1 1 1’34789
{EAT 15905 FIE 2 2|77409° T 4AY AL 5m |4 13 R

{EAH 1591 |4% RE % 21774V 74AY 3L 5m |EE 14 3/2 18m19/6
{EAH 1592|# M FH g9 21774V T4AY 3L 5m |EE 17 6/1 7m02/3
{EAH 15935 FH #BiT g3 1|R_RoU T g 1 6 118
{EAH 1594+ ¥F =z 1|R_RoU T g 1 5 121
{EAH 1595|151k B+ =z 1|R_RoU T g 1 2 159
EA™H 1596[1E/R #LXH s 1Ry P 1 7 96
fEAT 1597| /MK 5 5 1|/R2) T g 1 7 111
EA™H 1598(hiE 24 5 1Ry P 1 4 146
fEAT 1599|BAH HPH g3 1Ry a5 1 R

EA™H 1600(Fa )1l &5 5 1Ry a5 1 2 174
fEA™ 1601[IBIE E£F s 2177409 T 4A) 3L 5m |H 17 4/6 9m32/0
EA™H 1602(HH F&E 5 21774V 74AY 3L 5m |IEE 26 3/5 16m71/1
kAT 1603|Fk 1L &0RK 5 2177409 T1A) IIHL 5Sm | BE 7 5/6 16m33/1
{EATH 1604/lLO F&E 2 1Ry B 2 6 118
EATH 1605|1RiR [E ;2] 1Ry g 2 5 126
EA™H 1606|FHH CBA 5 1Ry g 2 2 185
{EATH 1607|;%)Il Rt 2 1Ry B 1 7 98
fEAT 1608|$7:E 5 1|RoU T B 2 7 112
fEAT 1609|fEE & 2 2177409° T 4A) AL 5m |HE 11 8/17 3m01/0
{EATH 1610[F1L B3R 2 2|17934V9° 7 4R LI 5m |HFE 11 7/1 3m90/0
fEAT 1611 ILA X 2 21774097 4A) AL 5m |HE 1/ 3m76/%
fEAT 1613|#H FHE 2 28|fE L ENEBE B 1 1 3m97
{EATH 1614 K =X 2 2|17934V9° 7 4R LI 5m |HFE 11 1/6 22m46/2




FRRRFREEEFERR—VYKRE BABREERGEER)

BilE tyroNe.  |K4 % |BEEXSS |FEB FR5| #H | NEA SCER A=HE
EXr ] 1631|HH —= e 4|BEL YINR - 52E8 1 2 34m50
R 1632| 8%t &5 5 27|BE L VeAyHAD- 528} 1 2 12m45
R 1633|FHH EFH 5 217749 T 1AY LI 5m |B2F 29 R

R 1634|A& Alk 5 2|77409°T4AY SIHL 5m | B2EB 1 R

R 1635(B8 R#% 5 2177409 T 1AY 3L 5m |B2F 32 R

R 163643 174k 5 4|BEE U eA)yyAD— 52 1 R

R 1637|#R =T g3 2177409 T 1AY LI 5m |B2F 31 1/1 7/21m65
R 1638(|#%HA )7 =z 27|BE £ U eAyHA0- 528} 1 R

R 1639(=fk K 5 27|BE £ U eAyHA0- 528} 1 R

R 1641|#R &E&KF =z 2177409 T 1AY 3L 5m |B2F 28 4/2 15m92/5
R 1642(HliR FX % 217749 T 1AY LI 5m |B2F 35 5/5 11m48/2
R 1643(/ L [£ % 4|BEL YIMR - 52E8 1 3 23m13
R 1644|138 #hTF g3 27|BE £ U eAyHA0- 528} 1 R

R 164574 &1 g3 2177409 T 1A) IIHL 5m | B2ER 28 2/4 19m83/4
R 16461k = 2 2|774V9° T 4AY AL 5m | B2EB 35 2/3 14m65/3
R 1647|7 %t =5 % 2|77409°T4AY AL 5m | B 2EB 33 2/4 20m69/3
R 1648|#%H X % 27|Be £ mafLi% 528} 1 R

3] 1649|TB IER 5 29|BE | SLHEBk 5280 1 1 1m64| K&
3] 1650|/ME ¥— 5 4|BE L VeA)yhA0- 5280 1 2 14m26
3] 1651|3xH FiE 5 21774V T 1AY 3L 5m |B2F 27 3/3 16m97/4
3] 1652[HliR RXK 5 21774V T 1AY 3L 5m |B2F 38 2/3 20m75/3
3] 1653|#R =5 5 1|BE L IhEk 5280 1 1 2m09
3] AR FH 2 19|7Ki%k B HE#Z25m 52 1 R

3] e Rzt 5 6|7kik BHF25m 528} 1 1 22773
3] B 1ES 2 27{/Kik n9377425m 5 1 2 32762




FRRRFREEEFERR—VYKRE BABREERGEER)

Bil=3 N |K% t [EEXS |EHE FEXo | M | JEAL AC 8% XEHF
REHH 1657|553 Hui 5B 27|k £ 1500m 528 1 1 613703
ZEHH 1658|/ 4k BB =5 22|fE £ SIOEBK 528 1 1 1m75
ZEHH R EEEE ] 7|iEE SriERk B 2R 1 1 1m29| K3
REHT 1660| =% FF z 7(BE L SIHEEk 520 1 xR

ZEHH 1661(F11 &S 5B 27|fE L FafLi% B2E 1 1 10m12
REFHH 16621l 30F % 2754574y b Im |Bo#s | 4 1/1 25m33/3
REHT Wi & e 8|7kik FikE25m 5280 1 1 54799
REHH Wi =0\F 8 8|/Kik BHR25m B2ER 1 1 57733
REHT il e 5 4|7-F1)— 50m-30m39v+ | B 280 1 1 027
ZEHH BEiE Ui 5 47—F1)— 30m¥TNFIVL | B 28R 1 1 477
ZEFTH X% ¥ 2 1| 25k 52 1 1 142
REHH AL R ] L 528 2 3 3t
REHH 1663|001 5 1179499° 7429 BEfE 5m |H18D 1 1/1 19m68/6
ZEH™ 1664|Bk& F07] B 2[77409° T 4AY 3L 5m |B2ER 15 1/1 42m59/8
ZEHH 1665|& &= 2 2(774V9T4A) L 5m | H 28 26 1/3 32m93/3
ZEH™ 1666|AJ11 ;EFN B 2[77409° T 4AY 3L 5m |B2ER 33 1/1 9/42m175
ZEHH 1670|% < 1 B’X 2 28|fELE YIME-NIR 5 1 2 29m20
REFHTH AT #F 3 277Kk & Fa#50m & 2 1 31739
REHH 28 sh& e 27|k B ER50m & 2 5 42754
REFHTH HiE R = BEE: X3 1 2 241
ZEHH 1671|11RA R 3 2[75409° 7429 3ifL 5m |H 7 2/2 27m32/7
ZETH 1672| BB R B 2|77409° TR AL 5m |F 11 2/2 16m61/4
REFHTH 1673|138 = 3 1|Ryys HE 1 2 231
REHH 1674|855k £ B 1Ry D 2 3 165
REHH 1675(K#R BLBA 5 28[BEE 50m HE 3 7 11766
REHH 1676/18R_#p= % 28[BE £ 50m s 1 4 14741
ZEFH 1677|311 BE&k ] 28[RE L YR -ILIR HE 1 2 32m48
ZEHH 1678|FEim E3it 3 2[75409° 7429 3LfL 5m L4 15 5/3 12m33/3
ZEHH 1679|@AS S 3 2[75409° 7429 3LfL 5m L4 14 6/6 9m56/0
ZEFH 1680|7HiR {4 5 1Ry HE 1 6 24
REHH 1681|=H IEIE ks 28|k £ ITMERE HE 1 4 1m15
ZEHH 1682[## F 5] 5 28[fEE 50m ki 2 3 947
RETHH 1683|#&H* #nF = 28|fE . IIEBk HE 1 1 1m22
REHH 1684[;E ;587 S 28|BEE 50m HE 3 8 18784
REHH 1685|548 X F "8 2[75409° 7 1A) L6 5m |HE 17 3/2 12m84/2




FRRRFREEEFERR—VYKRE BABREERGEER)

ZEHH 1686[;& #IF0 5 2177409 T4AY AL Tm | E 12 3/2 23m45/4
ZEHH 1687|86R £RF s 2|77409°T4AY SHL 5m |4 20 3/4 15m51/2
Eetadit] 1688|/NHF = =z 2|1774V9° T 4AY 3L 5m |EE 20 1/3 22m51/4
Eetaditl 1689|ith £ & 5 2177409°T4AY AL Tm | E 12 2/3 32mb52/4
oetaditl 1690|Fi8 —F T 117Ky & 2 4 99
oetaditl 1691|BR EHKF T 117Ky & 1 2 127
oetaditl 1692|4L;E 1EF] ;] 117Ky & 2 3 197
etadit] 1693|4;E FNE T 117Ky & 1 5 71
ZEFHH 1694|8E/F JIEth B 28[pBE L 50m & 1 R

etaditl 1695|858 =& s 2177409° T 4AY AL 5m | E 17 5/4 7m65/1
oetaditl 1696|E[R 5 HasrPZi HE 1 5 144




FRRRFREEEFERR—VYKRE BABREERGEER)

il toroN.  |K4 M |BEEXS |EER FEpXy | 4 [ B BBk REFE
MAEEHK 1752()1| F#B 58 ] 26|FeE 100m 518 1 3 16727
MAEFR 1753| ;B K & E 5 24|BE E 100m 5148 1 2 34”98

WA S =% 1754 BHAE 5 26{BE L 100m 5 1% 1 1 14732| K= 3
AT 1755| R R X 26|BE L 800m 518 1 1 405756

Y N 1756| fEHEE B 26|BEE 100m 51EB 1 2 16705

WAT 2R 1757|BF5E BEZ A 5 26[fBE L 100m 5188 1 x

N =1=21 53 1758|TEFT Ziz z 26(fE £ YINE -1 B1E 1 R

WA S = 1759| A #HE— ] 24[BE L FARIR B 14 1 1 5m42| K 5L %
N 1760[ )14 = ] 25\B F Fahi% B2 &R 1 1 12m29| K= #
N == 5 1761[IUA HEHEF z 15| OURT—JILT=R |B1E8 1 142

AT FR 1751|F&ZE a3 E T 28[fEE  100m D 1 3 22" 67




FRRRFREEEFERR—VYKRE BABREERGEER)

BilE ool |K4 % [EEXS |FEE FR5| #H | NEA SCER A=HE
RHAIER 1772|H#H EF 5 17| 2Bk 5188 1 2 2431
EHASFK 1773|FFt $HE s 17| 2Bk 5158 1 4 ZYiva
EHASFK 1774[f2H e 17| 2Bk 5158 1 3 31
EHASFK 1775|425 5 27| L 100m 5150 1 3 16767
RHAIER 1776|411l &€ 5 17| 2Bk 51858 1 5 5
EHAIFER 1777/ T 5 27(fEE 100m B1E 1 xR

EHASFK 177808 & g3 26|/Kik BHF50m 5150 1 1 32770
EHASFK 1779|ARE Fid s 18| Bk DI 2 5 541




FRRRFREEEFERR—VYKRE BABREERGEER)

BilE tyroNe.  |K4 % [EEXS |FEE FRE| 8 | B 50 % A=HE
WARDSE 1791 8K R{Z ;] 27|FEL 100m 51Ep 1 4 17793
WARADSE 1792(/hA A B 27|EL 100m 51Ep 1 2 15”06
IWARADSE 1793|FFH A 5 27|k L FARIX 5 1% 1 2 5m63
WARDSZEH 1794| ROR #AKER 5 27|BE L 800m 5150 1 1 300728
WARDIZEH 1795|8#F HEF =z 26|/Kik BHF25m 5150 1 1 33761
WARDSZEH 1796|8REH HiE 5 27|k £ FEfEBE 5150 1 2 5mi18| K%
WARDSZEH 1797(d L E3E 5 27|k L FaALIR 5158 1 1 7m49
WARDSZEH 1798|@k)Il #E s 26{7/Kik 1n'477450m 5150 1 1 30776
WARADSE 17995 8H AEF T 17| 2Bk 5 1% 1 1 142
WARDSZEH 1800|3XH Ff& % 17| 2Bk 5158 1 3 31
WARDSZEH 1801|H 1L ZEh % 27|BE L 100m 5150 1 1 14779
WARDSZEH 1802| LA #th % 27| £ YK IR 5188 1 1 21m14
WARDSZEH 18031 #EME g3 27|k L 1500m 5150 1 1 816787
WARDSZEH 1804[18H 3K % 28|fE L 50m D i 3 4 9”59




FRRRFREEEFERR—VYKRE BABREERGEER)

BilE tyroNe.  |K4 % [EEXS |FEE FRE| 8 | B 50 % A=HE
EHEEFK 1811|FER & 5 28|fE L 50m DEE 3 6 13713
EHEEFK 1812| BH 2iF B 28|fE L 50m D 3 5 10”41
EHEEFK 1813[h 4 #BF s 28|fE L 50m DI 2 3 1002
EHZEFK 1814|FH:R B&E 5 28|fE L 800m DE 1 5 317781
EHZEFK 1815|ILiE Kith 5 28|fE L 100m DEE 3 7 16727
EHZEFK MA B s 27|/Kik BHF50m DaE 1 1 45738
EBREEZIR 1817|k8s EiE 5 28|fE_LE 1500m HEE 1 13 751714
EHZEFK 1818|F)Il & T 117Ky D 2 2 250
EHZEFK 1819|Fh#t =5 T 28|fE L 200m D 1 3 39798
EHZEFK 1820[FRK—4& 5 28|fE L 100m DI 3 4 14”50
EHZEFRK 1821[FKH #H3 g3 27|/Kik BHF25m DaE 1 2 26”19
EHZEFRK 1822|Ba[&p 22 =z 21774V 71AY 3L 5m |DE 2 3/2 15m59/5
EHZEFRK 1823(1lLiE #EF =z 1|R_RoU T DaE 2 3 164
EHZEFK 1824|;F K &Hd H g3 18| B Bk DI 1 3 31
EHZEFK 1825(%13 /X =z 1|R_RoU T D i 1 2 129
EHZEFK 1826(/NR¥HE g3 21774V T4AY 3L Tm |DE 4 3/3 16m32/1
EHZEFRK 1827(# &A % 28|fE L 100m DE 3 1 13767
EHFZEFK 1828|#1FH & 5 28|BE L 100m DaE 3 2 13790
EHFZEFK 1829| 4t fF 2 1Ry DI 1 1 250
EHFZEFK 1830(5L1L X 5 28|BE L 1500m DaE 1 4 549798
EHFZEFK 1816 &5 K0 ] 28|fE L FENEBE DaE 1 2 4m47




FRRRFREEEFERR—VYKRE BABREERGEER)

BilE tyroNe.  |K4 % [EEXS |FEE FRE| 8 | B 50 % A=HE
FAREEFIR 1831;E% #Hth ;] 14| S Bk B1E 1 2 2431
FAREEFIR 1832|EH I8 5 18| 2 Bk DI 2 3 343
FAREEFIR 1833|XiFE B g3 18| 2 Bk DI 1 5 5i
FIREEFIR 1834|/h#k E|IR 5 28|fE L 800m DE 1 4 300716
FIREEFIR 1835|f% H 5 28|fE L 50m DaE 3 3 9”33
FIREEFR 1836| A X 5 27| Kk  FikE25m DaE 1 1 33729
FIREEFIR 1837|R2 K #lgsE s 28|fE L 50m D 1 R
FIREEFIR 1838| 1R %l 15 5 28|fE L 50m DI 3 1 7724
FIREEFIR 1839|FEAKR 1&{h 5 28|fE L 50m DaE 3 4 8782
FIREEFIR 1840(F 1L EX 5 28|fE L 50m DaE 3 7 9”34
FIREEFIR 1841(THE X 2 28|fEE YIMK IR DI 1 4 56m51
FIREE R 1842|AA #HF 2 18| B Bk DI 4 3 31




FRRRFREEEFERR—VYKRE BABREERGEER)

BilE tyroNe.  |K4 % [EEXS |FEE FRE| 8 | B 50 % A=HE
IMAREEFIR 1881|(FEEE 5 28|fE L 50m D EE 3 4 8”06
IAREEFIR 1882| LIEHESR B 28|fE_L 100m DI 3 2 12791
IAREEFIR 1883[FFHEHRE s 28|fEL 100m D 2 4 18”52
IMAEEFR 1884 |E[RIEE 5 28|BE L 200m DaE 1 4 34760
IMAEEFR 1885| B[R EL 5 28|BE L 200m DaE 1 1 27758
IMAEEFR 1886 | EF 2N {E 5 28|BE L 400m DE 1 5 117768
IMAEEFK 1887|/METEXR 5 28|fE L 800m D 1 3 2'59”85
IMAEEFKR 1888 =#1#0th 5 28|fE L 800m DaE 2 4 304786
IMAEEFKR 1889 | & kB Ak 5 28|fE L 800m DE 2 2 250”11
IAREEFR 1890|[A%} HE 5 28[fEE 800m D 2 R

IMAFEFKR 1891 ILE E % 28|fE L 1500m DE 1 11 647797
IMAFEFKR 1892|#t LIZE % 28|fE L 1500m DaE 1 2 513”44
IMAFEFR 1893[;T O &K % 28|fE L 1500m DaE 1 1 509713
IMAFEFR 1894| = RE K % 28|BE £ SriEBk D i 1 1 1m98
IMAFEFR 1895(mi /3K e % 28|BE £ FEMEBE D i 1 3 4m30
IMAFEFKR 1896|ILAFN=E 2 28[fE £ YK -1 D 1 6 20m230
IMAFEFKR 1897|/NEFE R =z 28|fE L VI -LIR DE 1 1 25m97
WMAFERR IgE 5 27|/Kik BHF25m DaE 2 3 22”71
WAEEFR KtES 2 27{/Kik BHRZ25m D 2 2 19”38
WAEEFR HHERER 2 27{/Kik BHRZ25m D 1 2 23770
WMAFERR xEEH T 27|/Kik BHF25m DI 1 1 24”09
WAEEFR INKE R 2 27{/Kik BHRZ25m D 2 4 25768
WMARFERK BEE g-g 27|7Kik EHF50m DE 1 2 49”18
WAEEFR EAEk— 2 27|/Kik BHRZ25m D 1 1 17768
IAREEFIR (LfE i 2 18| 2Bk D E 3 2 2431
MAEEZKR 1898 | & #fHh K 2 21774097 4AY AL 5m |4 5 5/5 11m32/3
MAEEZKR 1899|ILAZE 2 21774097 4AY AL 5m |4 5 3/3 14m71/5
MAEEZKR 1900| Fh#FHE 2 21774097 4AY AL 5m |V 4 5 6/6 10m12/2
MAEEZKR 1901 | E1&fn 2 21774097 4AY AL 5m |V 4 6 4/6 31m12/4
MAEEZR 1902| =E &R ILHRFh— 2 2|77409° T 4AY AL 5m |V 4 6 6/3 24m33/7
MAEERKR 1903| P EF 5 = g3 21774097 4AY AL 5m |V 4 2 4/4 14m73/5
IMAEEFK 1904|/NAEZ 2 21774097 4A) AL 5m |4 6 2/8 48m00/3
IMAEEFK 1905\ &H 9 H = 21774097 4A) AL Tm |V E 4 2/4 18m33/1
IMAEEFK 1906|FJ)IIHE g3 21774097 4A) AL Tm |V E 4 4/5 15m17/1
IMAEEFK 1907 | B4 B B& K 2 21774097 4A) AL Tm |V E 8 R




FRRRFREEEFERR—VYKRE BABREERGEER)

IMAREEFIR 1908|3215 K 5 2177409 T4AY AL Tm |V EF 8 24m82/1
IMAREEFIR 1909[iRI;ZE FRE s 1|5 D EE 1 1 174
IAREEFIR 1910|=8 &t 5 1|/R) 5 D 1 2 186
IAREEFIR 19118 gEZ AT ;] 1|/R) 5 D 1 5 129
WAEEFKR 1912/h#k 5 T 117Ky DE 1 R

IMAEEFR 19138 FHE T 117Ky D 2 4 128
IAREEFR 1914|506 H& 2 117Ky D 1 1 166
IMAEEFKR 1915|F % ff— ;] 117Ky D 2 4 159
IMAEEFKR 1916|7KHBT #23A ;] 117Ky D 1 3 161
WAEEFKR 1917| L1 B 5 117Ky DE 2 R

IAREEFR 1918| B8 ##d 2 117Ky D 2 2 285
IMAFEFKR 1919[;& R X % 28 DaE 3 6 10778




FRRRFREEEFERR—VYKRE BABREERGEER)

BilE tyroNe.  |K4 % [EERS|FEE FRE| 8 | B 50 % A=HE
IMEHEE IR 1921|4811 1548 5 28|fE L 50m D EE 3 5 9”63
IMEHEE IR 1922|17H 8 B 28|fE_L 100m D 3 8 18793
IMEHEE R 1923|)8 Kkt 5 28[fEE 100m DI 3 1 12°54| K=
A E R 1924(#% HE s 28|fE L 100m DaE 1 R

A E R 19258 E% 5 28|fE L 100m DI 3 6 14773

A E R 1926| F A & 5 28|fE L 800m DaE 1 2 2'39744

A E IR 192770 &KX 5 28|fE L 800m DaE 2 5 309748

A E IR 1928| =R K 5 28|fE L 800m DaE 2 3 2’5389

A E IR 1929(Z 8 EF s 28|fE L 800m DE 1 1 318”53

A E R 1930 =i ZEth 5 28|fE L 1500m DaE 1 10 6'42"53

AR E IR 1931(REk $£& % 28|BE L YIME LR DE 2 4 37m65

AR E IR 1932| =i 1E# % 27| Kk Tk E50m DE 1 1 58”07

AR E IR 1933[/NR EF 2 27{/Kik n477450m D 1 1 50”46

AR E IR 1934|57me H= 2 18| B Bk DI 3 1 1431

AR E IR 1935| 2 Hn &3} 2 1|R_RoU T D 1 6 65
IMEAE IR 1936 4T X 2 1|R_RoU T D 2 4 147

IMEAE IR 1937|ILF BEE =z 1|R_RoU T D i 1 1 159

AR E IR 1938| X1E RF 2 1Ry DI 3 5 135

AR E IR 1939({Rik 2 5 2 77409 T 4R 3L 5m (D EF 5 2/4 20m87/5




FRRRFREEEFERR—VYKRE BABREERGEER)

BilE tyroNe.  |K4 % [EERS|FEE FRE| 8 | B 50 % A=HE
TEHEEFK 1941(5H 2% s 19[fE_E 100m 5150 1 1 58783
TEHEEFK 1942|ZfE RE T 23|fELE ASO—L 5150 1 1 149”13
TEHEEFK 1943[B 1L KA ) 19|BEE V'eA"yyA0- 5180 1 1 5m90
TEAFEFR 1944(58)11 T#EX 5 20|BE L Y7ME LR 5158 1 1 17m85
TEAFEFK 1945( 1 L% # 5 5 0] | i e 5 1% 1 2 16m11




FRRRFREEEFERR—VYKRE BABREERGEER)

il tyroNe.  |K4 % |EEX%|TEB FRE| 8 | B 50 % AEHE
AT 1960| i L8 2 18| | Bk DE 2 1 141

AL EERER 1961| & [EF1E £ 18| 2 Bk DI 1 1 1Rivd
AT 1962|211 %) 2 28[fEE 200m DE 1 3 32780

TR ILEEFR 1963| &% 5 28|fE L 50m DEE 3 7 15718

MR ILEEFR 1964| L5 B ;] 117Ky D 1 5 137

MR ILEEFR 1965|AIEFE— ;] 28|fEL 1500m DEE 1 15 1127711

TR ILEEFR 1966 | = = th 5 28|BE L YIME LR DI 1 2 70m03

MR ILEEFR 1967|Hh #4t 5 28[fEE  1500m D 1 xR

FEATIUEEFR 1968 |3 R 7 it 5 28[pEL EEBK DE 1 1 1mb55| K& H
FEATIUEE R 1969| &Il # 5 117Ky DE 2 R

TR ILEEFR 1970| 5 H F 4 2 28|fE L 800m D 2 1 2'44"88

TR ILEEFR 1971|8RER# 2 28|fE L 400m D 1 4 117700




FRRRFREEEFERR—VYKRE BABREERGEER)

Bil=3 N |K% t |[EEXS|EE FEXo | M | JEAL AC 8% XEHF
T AEEER 199138 A B 28|BE £ 1500m DE 1 5 5'52"60
T REESR 19923k E= % 28|BE_E 200m DE 1 1 37734
FEEEER 1993[BF 4L g 28|BEE 100m s 3 3 14728
TR TR B= = 277Kk B Eafs25m X3 1 3 33764
FREESR 1994[FERF=T)LAVDIZ| B 28|fE L 50m D& 3 3 7789
TEBETR 1995\ A% 5 1Ry 5 DI 1 1 212
rTEEETR 19961l R S 1Ry ks 1 2 130
EREETR KB R 2 18]S 3% D 1 5 5
EREETR R M B 18 53k 2E | 3 1 4t
T REESR 1997|EE % =2 28|BEE YIME LR DI 1 3 61m47
FRBESKR 1998|fiR =X 5 28[pE L 400m DE 1 1 102707 | K& #7
TEEETR 1999|548 R¥ 5 1KY~ 5 DI 2 R

TAEEZR 2000[7KiR H48 5 28|k £ 800m i 1 ‘ 229°25
T REEDR IR B2 2 27| Kk _HH#25m DE 1 R

HABEER 2001|FRFA u& 5 1Ry D& 2 1 192
FREEER 2002| B E fE— B 28[BE £ 100m DE 3 7 17736
FEEESR ik 8BS X 27[7kik B H#50m DL 1 R

TERESR 2003|&MT BN E] 28[BEL 50m VE 3 1 6797
FEBE#EER 2004|F R #&7 X 28|BEE 400m D 1 2 145”67
e P E 28[BE E 100m L 3 8 17737
TEEBTR FLA 5 2 BEE: D : 2 26
FREEER 2006|Eh K8 B 28|BE L 50m D 3 6 8”78




FRRRFREEEFERR—VYKRE BABREERGEER)

e TN [ t [BERS[EE XA 8 | B | mE [kewm
SR B 2031|564 &R S 28|BE £ 200m DE 1 2 38738
8RBT 2032|chilE K3 X 28|BEE  100m DE 1 2 177 58
B B L 2033|[E #th E] 28[BE L VeAYyyRO- DI 1 1 29m14) KRR EC %
BREAEEFR 2034|HF £E 3 28|fEE 100m D 3 6 16712
SRR B 2035 &8 HE % 28|k £ 50m ki 2 ‘ 8'54| KR #
EREEEFR 2036| %% HhiE X 28|fE L 50m D 2 5 1174
EREEEFR 2037|=T Bt 3 28|fE L 100m D 3 5 15732
SRR £m X8y E] 27[Kkik B H#25m DE 1 4 59751
o AL BEE AiE E] 27[7kik B H#E50m DI 1 1 42776
IR B EER % Th ] 27[Kkik B ER50m D 1 1 42776
BREAEEFR NG =& xz 18 R Bk D& 1 2 2{u
D iR % 18]S 3% D 2 2 24
e S &F EK s 18] 23k DI 2 4 4fi
D &3 KB 5 18]S 3% D 4 3 3
e S R =R B BEE: D 2 2 26
THEEE Y x 18| S 3% D 1 4 4h
BREAEEFR IS TTH 3 18[ = 5k DE 1 4 441
B8R A B 2038| {1k 1EA i 2|1974V9' 429 3ifi 5m |DE 6 3/5 39m37/4
SR B R 2039|/N2 1= Cl 21794V TURY Sifa 5m |DE 5 4/2 13m90/5
B B AR 2040[)1l £ H& 5 1|7RH)> 5 D 1 2 210
e e 2041[/N8 FEiK 5 1R~ D 2 2 182
IR B ETER 204217 K E S 1|RoUL s s 1 2 130
B B AR 2043[1FF HE £ 1|1RYY2 Yy D 1 6 14
SR B R 2044| E#F =7 ] 28|fE L 100m D& 3 3 14799
RERETR 2045[BitE A B 28/t 100m b 3 2 13 86
RERETR 2046[:E3 [t 2 28 b 1500m o ! 3 516750
B A 2 S 2047|%fE % 5 28(RE L ESH DI 1 2 1m20
SR B 2048|=f BRRE z 28|fBEL  100m D 1 1 15" 72
REEEER 2049/t LA 2 1Ry D& 3 4 165
B8R B A 2050|@th EF = 28|fE £ 100m L 1 R




FRRRFREEEFERR—VYKRE BABREERGEER)
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